Table 1: “’Ar/*Ar analytical data. “°Ar,,, = atmospheric “Ar. *Ar* = radiogenic *Ar. Ca=
produced by Ca-neutron interferences. K = produced by K-neutron interferences. Age (Ma) = the .
date is calculated using the decay constants recommended by Steiger and Jager (1977). The error
are at the 1 level and do not include the error in the value of the J parameter. Correction factors
for interfering isotopes produced by neutron irradiation in the McMaster reactor were (A7 Ar)¢,
=7.06 x 10, (PAr/Ar) ¢, = 2.79 x 10, (PAPAr), =3.02 x 107

Step YAr,. TAn, A MAn DAL Age Step  *Ar,, A TAr/MAg OprrAr Age
no %) (% (x10% ¥ (Ma) na {Fo} (%) (10N * (Ma)
95GROL Bick 95GRO4 Musc
1 331 7.6 0.005 912 2334+12 1 25.1 1.3 0.627 13.29 3300 3.2
2 64 434 0.007 14.84 3657286 2 L9 10.1 $.334 15.79 385.7£ 1.6
3 03 207 0.002 1548 319.7£05 3 3.3 11.9 0.000 15.60 3816+ 1.3
4 0.5 6.7 0.001 16.21 3858+1.1 4 21 225 0.27! 1532 3755 ¢ 1.1
5 05 LR 0.003 16.66 405707 5 56 2.6 0.144 1542 3176+ 1.1
6 05 2.5 0.004 16.15 394519 ¢ 17.5 12.7 02569 1526 374.1 £2.5
Fuse 0.6 99 0.001 1571 384813 7 21.8 4.6 0.000 1541 3774 +2.1
Integrated ape: 36751 3.8 Fuse 17.3 30 0.000 1546 378.5+24
Integraled age:  374.5x0.6
95GRO1 Biot 95GR04 Musc
1 89.7 06 0.004 872 2236179 | 55 27 0.000 992 2517+ 2.1
2 46.8 1.5 0.008 5.13 134914 2 02 6.7 0.178 16,04 3912+ 1.2
3 10.9 134 0017 1493 367.7x 1.0 3 0.0 8.1 0218 16,03 391.1 £ 0.9
4 24 18.0 0.005 15.58 382107 4 40.0 8.1 0.199 15.81 386.1+1.2
5 11 12.7 0.001 16.01 391608 5 0o 234 0.102 15.68 3823 2006
6 14 12.1 0.004 1692 4114207 © 0.0 18.4 0.135 15.64 3823 0.7
7 1.9 14.3 0010 17.00 4132209 7 00 14.4 0.089 15.53 3800+ 0.7
Fuse 23 211 0.010 16.23 396208 8 0.0 0.7 0.000 15.59 3813z 1.1
Integrated age: 374.3+04 O 0.0 2.4 0.000 15.58 381.2+2.7
Fuse 0.0 8.6 0.000 1562 3821 =15
- Integrated age:  380.2+0.3
95GRO1 Musc YSGROR Musc
1 13.6 58 0.008 1590 3896+ 21 ) 6.3 4.8 6011 1691 409.7 7.2
2 62 2.5 0.000 15.66 384338 2 04 271 0.000 18.61 446.1 £2.5
3 5.1 23 0.011 15.19 373.8x3.1 3 0.2 407 0.001 1037 4622 1.2
4 6.2 5.4 0.008 1506 373217 4 0.6 17.6 0.008 19.23 4592 220
5 8.5 9.0 0.003 1518 373.6 £ 1.3 Fuse 0.2 9.5 0.030 19.5] 4653 £33
6 19 225 0.000 15.15 373.0 £ 0.7 Integrated age:  454.1 £ 1.0
7 1.8 304 0.001 1513 3724 ¢ 1.1
8 06 213 0.002 15.18 373.5 £ 0.6
Fuse 9.7 04 0.138 13.94 3459+ 189
Integrated age: 373,12 14
95GRO3 Musc 95GROE Musc
1 0.734 11.6] 0.006 1492 3669 1.1 1 10.6 0.3 0.538 14.69 3608 £21.7
2 0.172 11.88 0.005 1540 3175216 2 1.5 24 0.185 16.44 3994 + 3.9
3 0.134 17.87 0.001 15.31 3756 +08 3 0.0 6.5 0.000 17.84 429.8+ 1.5
4 0044 19.99 0.003 1528 3749+08 4 0.3 124 0.001 18.87 451.7 1.0
5 0817 14.26 0.005 {528 374814 5 0.4 5.7 0.000 19.32 461.1 £ 1.8
G 0.156 10.00 0.008 1530 315210 6 00 505 0.000 1940 462.8 £ 0.5
7 0389 511 0.011 1525 37142+17 7 0.3 11.1 4.006 19.35 4618+ 1.2
8 0.725 929 0.071 1538 3772+ 18 8§ 0.5 3.8 0.031 19.35 461.8 £ 2.9
[ntegrated age: 374.1 £ 04  Fuse 0.3 6.8 0.035 1942 463.3x 1.5

Integrated age:  456.2 £ 0.4




95GRO3 Musc 95GROY Musc

1 18,2 Q.3 0.000 4.55 1199+ 166 1 LG 0.4 0.000 9.64 244.2 £ 310
2 1.9 31 0.000 14.43 3561+t 1.5 Fuse Q.0 995 0.000 1542 376.2+ 1.4
3 0.2 34 £.000 1542 3780 1.2 lutegrated age:  375.7 £ 1.4
4 0.0 4.9 0.000 535 365+ 08
5 0.0 6.3 0.000 15.32 3758+ 09
6 00 69 0.000 T 1530 3753209
7 0.0 23.0 0.064 15.29 3751 0.3
H 0.0 23.7 0.042 15.31 3756 =0.5
9 0.0 10.5 0.127 1531 3755 0.7
10 04 714 0.000 1528 375007
11 0.2 24 0.035 15.30 3755+ 1.7
Fuse 0.0 1.4 0000 1543 378.2+0.7
Integrated age: 373.9x 0.3
95GR0O4 Muse 95GROY Muse
L 10.9 24 0.005 11.59 290825 | a5 275 0.002 1481 362812
2 0.8 94 0.006 15.89 388.0x1.0 2 03 19.6 0.005 1522 3719208
3 03 14.0 0.006 15,77 3854 0.7 3 ol 25.0 0.007 535 3607
4 0.0 314 €.003 15.55 3804 £05 4 .1 78 0.009 1541 376.0x 1.7
5 Q.0 26,7 0.003 1549 379005 5 0.0 1.3 0.010 1542 376323
Fuse 0.0 15.7 D.004 1553 37199z08 o6 0.0 1.9 0.000 1542 376.3 £ 5.7
Imegrated age: 379,21+ 0.3  Fuse 0.3 1.1 0.000 15.44 376.7+2.2
Integrated age:  370.3 £0.5
95GR0O9 Musc 95GRO9 Musc
1 0.3 6.2 0,077 14.94 3656+ 1.0 1 24.3 Q0.5 0.001 6.70 1732 2206.6
2 02 14.2 0.015 1540 375.8+07 2 Q0.0 7.9 0.000 14.65 3592 = 1.9
3 0.0 244 a.137 15.38 3754+046 3 a5 13.0 0.000 1537 3751 2 14
4 0.0 25.6 J.143 1543 3765205 4 0.0 83 0.325 15.51 378.1 =14
5 0.0 15.1 0.177 1546 377009 5 Q0 158 0118 15.54 37189+ 1.1
6 0.0 16 0,551 [5.56 379.3£1.0 & 0.0 846 0.000 1554 37188216
Fuse 04 6.5 0.286 1547 377.3+1.1 7 0.0 17.3 0.000 15.60 380,01 = 1.0
Itegrated age: 374.9+03 8 ol 16.1 0.025 15.64 381.0+0.9
9 Vs G.3 0.000 15.65 381.2+2.2
Fuse. 0.3 4.9 0.000 15.8) 3847424
Integraled age: 3731214
95GR10 Musc 95GR10 Muse
1 17.9 0.6 0.0338 L1807 4332+ 127 1 395 0.1 0.660 0.22 2340+ 20,6
2 5.3 2.3 0.021 18.62 4448 4.0 2 33 0.8 0.103 15.39 3752 +4.2
3 50 i2 0610 18.42 4406 +34 3 1.3 1.9 0.030 1608 3903 2.1
4 12.5 L0 4.020 19.56 4646 7.3 4 1.0 i.5 0.091 1627 3944 £2.5
5 29 2.8 0.007 18.95 451.7+25 5 0.6 a8 0012 1673 4043+ 1.1
i 0.3 41.2 0.001 19.09 454 R =07 6 0.2 14.0 0.005 17.88 429,1 £ 0.6
7 0.8 16.7 0.005 1932 4596 £ 5.1 7 481 18.0 0.000 17.81 4226 £ 0.6
Fuse 04 379 0.002 1943 461906 8 0.0 10.7 {.001 17.69 425.1 £+ 0.0
Intzgrated age 456.2+05 9 0.0 6.3 0.013 1791 4297 +0.8
10 0.0 94 Lo 1875 44706207
1t 0.0 12.0 0.007 18.99 4526 £ 0.8
[Fuse 0.0 209 0.005 18.70 446.6 £ 0.6
lulegrated age: 432,72 0.3
95GR11 Musc 95GR1] Musc
1 1.6 12,7 0.007 1508 3678+ 1.1 i 28.4 is 0.237 12.22 303.7+13.5
2 0.z 292 0.004 1560 379.3+1.0 2 0.5 i0.6 0.227 1529 3725+ 1.1
3 0.1 35.3 0.002 1558 3789 +06 3 0.1 19.7 0.195 15.64 380.2 £0.8
4 Q.0 7.4 0.005 15.6]1 379614 4 Q.0 173 0.067 1557 3787+ 038
5 a5 33 0.000 1563 380.0+2.3 5 0.0 15.6 1000 15.53 37772 0.8
Fuse 0,0 11.8 4.003 1571 381714 & 0.0 u.5 'R 15.54 3¥8.1 = 1.1
lntegrated age: 3773105 7 Q.0 54 (.000 1554 318013
8 0.0 5.0 (.000 15.61 37195+ 1.6
115 1.0 ERS 0.0U3 1574 3823« 1.8

Imtvprmted age: 3749 +£0.4



	
	

